run_13047092 FGT_ADC 1, Timebin=2,Disc=1,asmb=1DA

Thu Feb 16 16:30:49 2012
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run_13047092 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Thu Feb 16 16:36:25 2012
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run_13047092 FGT_RMS_1,Timebin=2,Disc=1,asmb=1DA
Thu Feb 16 16:37:01 2012
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run_13047092 FGT_ADC 1, Timebin=2,Disc=1,asmb=1DA

Thu Feb 16 16:31:00 2012
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run_13047092 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Thu Feb 16 16:36:26 2012
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run_13047092 FGT_RMS_1,Timebin=2,Disc=1,asmb=1DA
Thu Feb 16 16:37:02 2012
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run_13047092 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB

Thu Feb 16 16:31:11 2012
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run_13047092 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Thu Feb 16 16:36:28 2012
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run_13047092 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Thu Feb 16 16:37:03 2012
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run_13047092 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB

Thu Feb 16 16:31:22 2012
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run_13047092 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Thu Feb 16 16:36:29 2012
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run_13047092 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Thu Feb 16 16:37:05 2012
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run_13047092_FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Thu Feb 16 16:31:33 2012
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run_13047092 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
Thu Feb 16 16:36:30 2012
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run_13047092 FGT_RMS_1,Timebin=2,Disc=2,asmb=2DA
Thu Feb 16 16:37:06 2012
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run_13047092_FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Thu Feb 16 16:31:45 2012
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Thu Feb 16 16:36:36 2012
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run_13047092 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Thu Feb 16 16:37:12 2012
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run_13047092 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Thu Feb 16 16:32:36 2012
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run_13047092 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB
Thu Feb 16 16:36:36 2012
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run_13047092 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Thu Feb 16 16:37:12 2012
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run_13047092 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Thu Feb 16 16:32:47 2012
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run_13047092 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Thu Feb 16 16:36:38 2012
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run_13047092 FGT_RMS_1,Timebin=2,Disc=4,asmb=4DA
Thu Feb 16 16:37:13 2012
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run_13047092 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Thu Feb 16 16:32:49 2012
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run_13047092 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Thu Feb 16 16:36:38 2012
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run_13047092 FGT_RMS_1,Timebin=2,Disc=4,asmb=4DA
Thu Feb 16 16:37:14 2012

[CADC RMS for

RDO=1,ARM=3,APV=5_}

RMS (ADC-ped)

45 =
40
35
30
25
20
15

10

. . . ;
0 120
APV channel

[ADC RMS for

RMS (ADC-ped)

50 f

20 |-
30 |+
20 [

10 : : : : ST S

1
120
APV channel

[CADC RMS for

RDO=1,ARM=3,APV=7 }

RMS (ADC-ped)

0 =
80 [=
70
60
50

40

HEAEHE

30

20

10

i
120
APV channel

0

[CADC RMS for

RDO=1,ARM=3,APV=8_}

%\ 90
[
8
< 80
2 70
©
60
50
40
30 =
20
10
. . ;
® 120
APV channel
[ ADC RMS for RDO=1,ARM=3,APV=9 "}
H e gEESSEEE gESSEEEEE pEESEE eSS pEEEE geee I
[}
a
< : ; ; ; ; ; :
I Il
s o o 5 o 5 5
@
EH o peeeeeeeeeamseo0a0e00] eeeeeeeoeamse00am000g g eoeeeeeaeseoeam0e000 foeeeeeseamoeo0amoe002 g eoeeeeeaeeeoeam0e0020d Feoemeee
10 |+ + + 5 E R R R T e
5 00000a0a000000000adN060000060000000000000dNA00000000065000000000MbO00A000A000G0A00000404bA0A0A0600004000000000000000000000500000000004D000000
0 i
120

APV channel




run_13047092 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB

Thu Feb 16 16:33:00 2012
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run_13047092 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
Thu Feb 16 16:36:39 2012
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run_13047092_FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Thu Feb 16 16:37:15 2012

[CADC RMS for

RDO=1,ARM=3,APV=12 |

RMS (ADC-ped)

Lt

i
120
APV channel

[ADC RMS for

RDO=1,ARM=3,APV=13 '}

RMS (ADC-ped)

e S S R . SRR RN peeaaco
60
50
40
30
20

10

°'I'I'I1]1IIIIIHT|'I'I'I1]11IIr—k@

0
APV channel

[CADC RMS for

RDO=1,ARM=3,APV=14 |

RMS (ADC-ped)

APV channel

[CADC RMS for

RDO=1,ARM=3,APV=15 |

RMS (ADC-ped)

70

60

50

CEEEERIIIII0QRE
LN LA :ﬂ|

40

30 [
20

10

[[ADC RMS for

RMS (ADC-ped)

60
|

50 :

40 -

30 b— :
rmy g

20 f— :
— 2

0 — :
[— 2
= H

o = i . . . i . . . i . . . i . . . i . . . i
0 20 20 60 80 100 120

APV channel




run_13047092 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Thu Feb 16 16:33:11 2012
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run_13047092 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB

Thu Feb 16 16:36:40 2012
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run_13047092 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Thu Feb 16 16:37:16 2012
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run_13047092 FGT_ADC 1, Timebin=2,Disc=5,asmb=5DA
Thu Feb 16 16:33:13 2012
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run_13047092 FGT_ADC_1,Timebin=2,Disc=5,asmb=5AB
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run_13047092 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
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run_13047092 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
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run_13047092 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
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run_13047092 FGT_MPV_1,Timebin=2,Disc=5,asmb=5CD

Thu Feb 16 16:37:01 2012

[ADC MPV for RDO=2,ARM=4,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=4,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=4,APV=14 "}

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=4,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=4,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13047092 FGT_RMS 1, Timebin=2,Disc=5,asmb=5CD
Thu Feb 16 16:37:36 2012
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